Consultation results Local Council Tax Support Scheme 2025/26

1. Under the current scheme a person can receive 100% council tax support and does not have
to make any contribution towards their council tax payments. Do you think that people
should continue to receive 100% help towards their council tax?

Strongly agree: 19
Agree: 5

Neutral: 4
Disagree: 3
Strongly disagree: 9

2. If you disagree with a person receiving 100% what do you think the maximum amount of
help should be?

95%:
90%:
80%:
75%: 1

Less than 75%: 6

¢

3. At present, members of the Armed Forces community receive compensation awarded by the
UK Government to support with the ongoing costs of an illness or injury acquired in service.
Do you agree that military compensation for these individuals should be ignored when
calculating entitlement to council tax support?
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o Yes: 27
e No:9
e Neutral: 4



6.

7.

How do you think the Council should continue to fund its council tax support scheme from
April 20257

By reducing the level of council tax support awarded: 15

By increasing the amount of council tax payable for all residents: 15
Reduce funding for council services: 5

Other: 5

If you answered "other" to Q4 and would like to provide your own suggestions please use
the box below.

2 of the 5 who answered “other” to Question 4 provided suggestions as follows:
I.  Asfaras can see data from your spending dear council does not spend any
money on council tax support as checked some of the available spending cant
see much. Also most of spending looks very irrelevant and not needed. When

people have no support worse council ever seen.

. No idea.

Are you a resident of the Cheltenham Borough area?

Yes: 35
No: 5

Are you registered for council tax purposes?

Yes: 37
No: 3



8. Do you currently receive council tax support?

e Yes: 4
e No:36

9. Areyou currently in employment?

e Yes:32
e No:8

10. What is your age group?

18-24:
25-34:
35-44:
e 45-54:
55-64: 10
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65 years and over: 6

11. Do you have a disability?
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o Yes:4
e No:35




